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Three Hours Maximum : 75 Marks
Answer ALL questions
ALL questions carry EQUAL marks (Sx15=75)
Briefly explain the uses of Statistics in Business. (3)
Calculate mean, median and modc tor the given data : (I
C.T . 0-10 1020 20-30 30-40 | 40-30 ;. 50- O_Q“
£ 8 2300 1 20 10

Briefly explain the different methods of graphical presentation ot Data. (3

Calculate the co- g_’;1ugﬂ_o’r variation forthe givendata @~ (i0)
C1 0 -0 10-20 1 2030 30-40 5 40-50 ¢ 50-60 60-70 . 70-80 ; 80-90 !
N aas T 50 9 T3
Briefly explain the correlation and 1ts types. (3
‘Obtain two regression equations for the given data At
X 60 1 62 - 65 T '2 48 53 173 063 82

——m " e ————— e s - e —

Y . 68 60 ‘ 62 8¢ 85 40 - 52 0 62 (m 8

Lstimate X when Y = 75, and estimate Y when X =92,
OR
Explain Binomial distribution with «ts properties. (3}

H

Intelligence test on two groups ol bovs and girls gave the following results

Girls |75 __ i'_jlii‘);;i
BO\S ;m 70 -' 3‘3 350

gir [b.

A study of the height of 18 pairs ot husbands and their wives i a
factory shows that the co-efficient ot correlation is .52, Apply t-test o
find whether correlation is significant. |for 16 d.f @ $% level. t table
value is 2.12}. (5

In an experiment on imgnunizanion of cattle from tuberculosis the

following results were obtained S {10)
f \fTC—CPd —;\JOY affected
lnowlated__ o 1 “35_% ,-ﬂ.
Notinoculated " e 6
Calculate XZ and discuss the cffect of vaccine in controlling
susceptibility to tuberculosis. (3% value of chi-square for one
d.f=3.84)
OR
Briefly explain the procedure of one way classitication. {5)

fn a trivariate distribution
Gy =2, ©6:70;%3
I')“"U7 Iy =I5 ;= 0.8
Find 1) byas and (u)‘nl
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Briefly explain scope and applications of O. R.

Obtain an initial basic feasible solution to the following T.P using least
cost method
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where O; and D; denote i origin and ™ destination respectively.,

OR
Solve the assignment problem
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Briefly explain major steps involved in EMV criterion and EOL. (6)

A manager has a choice between 1) A risky contract promising Rs. 7

laksh with probability (.6 and Rs. 4 lakhs with probability 0.4 and (i)

A diversified portfolio consisting of two contracts with independent

outcomes each promising Rs. 3.5 lakhs with probability 0.6 and Rs. 2

lakhs with probability 0.4. Construct a decision tree for using EMV

criteria. Can you arrive at the decision using EMV criteria. 9
OR

Explain the terms :

(i) Pure strategy  (ii) Mixed strategy (ii1) Saddle point

(iv) Payoff matrix (8)

Solve the following 2 x 2 game graphically : (7)

Plaver B

) - A }
Player A B, | B, ‘ B, By
A, 2 1 0 -2
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